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Write short notes on any two of the following :
(1) Kolbe's reaction
(i1) Friedal Craft's reaction

(ii1) Fractional distillation.

fFrafaRaa 4 9 f& a1 wR dféra fewofy
fora—

(i) dres rffpar

(ii) Wwrsda s1we yfafear

(iii) MRS FqT|
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Time : 3Hrs. Sem. III - Chem. Engg.
Org. Chem.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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What do you mean by aromatic compounds?

What is the theory of aromaticity? Explain

wfes Iiffre | smu @« 9usa 22
wraAfefRdr &1 Rigia «ar 87 ar=ar & |

Write the different method of preparation of methyl
alcohol and discuss its chemical properties and

uscs.

foerse Jredpied 991 @ fafr= faferar &1
Ui & dAT U RS I gd IuIIT
BT Soaid DY |
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Predict the products of the following reactions:-

0T3006

(i)

(i)

(iif)

(iv)

3 14304

C,H,Cl 3] 3 | G gA1qgdl ol
AT 8—

(1) 1

@) 2

(%) 3

(<) 4

The product of the following reaction will be

CH. = CH Alkaline 9
(@) Glycol ~ KMNO;
(b) Glycerol
(c) Ethanol
(d) None of these

fore=1 arfrfspar & Saare @i

CH, = CH,Alkaline,

@) ‘o KMNO,
@) ReaRia

SIRCEIGI

(]) 379 | HIs T8

The general formula of alkene is:
(@) Cy Hono

(b) CoHae

(¢) CyHa,

(d) CoHana
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Answer all Five Questions.
_ 8x5 =40
o+l dfg 9ol @ SR
7. Explain:
(a) Aldol condensation
(b) Reimer - Tieman reaction
8

AT PN |
(a) rcsiel HEAT
(b) Rx —fen= arfifspan

OR (3121a1)

Write the structures of the following compounds:
(1) 2- Chloro -3- methylpentane
(i1) 1, 4 - Dibromobut -2- ene.

fafearRaa Aifrel @) Gva-me ferRau—
() 2— F@RI —3— AfYeU=A
(i) 1, 4 —SIZIHILC—2—34

0T3006

(vi)

(vii)

(vii)

(viii)

5

dIsd AP PT g o—
(31) CoH;CH,-

(@) CHs-

(4) C,H,NH,

(@) 9 4 HIg L

Urea on heating at 150°C gives:
(a) Carbon dioxide

(b) Blue colour

(c) Ethylamine

(d) Biuret

150°C % ¥ g = gfRar <ar 2@
(31) ®rd+ SIS TS S

(@) e <

() Serrge—gHA

(?) TrERe

Ethylene reacts with ozone to give:
(a) Ethyl alcohol

(b) Acetic acid

(c) Ozonide

(d) None of these

14304
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What do you mean by kharach peroxide effect?
Explain it.

@RI URTITSS YATd bl GHSIY | ARAT DY |

What are the difference between aromatic compound

and aliphatic compound?
4

wiifes v hmfes aifre & ¢ar siar 27
OR (3121an)

Discuss the structure of Napthalene.

Al & GXFHT BT quiv B |

Which type of functional groups are present in
Aldehyde and ketane. Write their formula and

two important reaction.

Jfeserss dor fdeld ¥ did—oa s
qy ¥ed ®© ?
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x)

(xi)

(xi)

(xii)
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(C,Hy),C &1 98l [UPAC 9 &—
(31) 2—vfdrer a8

@) Seefra AT

(@) 3. 3—srEufda 9=

@) 37 9§ BIE AL |

Propene gives Anti-Markownikoff's product
with:

(a) HCI

(b) HBr

(c) HI

(d) All of these

gfiF aenfaflRaa 4 @ fewa Grer gfve
—qARGI BB IAUTE Qdl 87

(1) HCI

() HBr

(|) HI

() 37 oft & i

C,H,I +2H Zo-Cy, 5 product A is:

(a) Ethane
(b) Methane
(c) Propane
(d) Butane
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(xx)  CH3;MgBr+ 0 =C=0— A HLO) B
Af® B gRT—
(31) wifife s
(@) vifes e
(@) wfrer
(]) d=i

GROUPB

Answer all Five Questions.

! uig gl & SR o

4x5=20

2.  Why a - position of Naphthalene is more reactive?

Agereld BT o - position Afe® frarsfiar @t

gar 8 ?
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(xiv)

(xv)

(xv)

(xvi)

9 14304

o A 9§ @ @9 wifRed Raax
dsec ® el Rerar gdor gdr 87

(31) a=i=

CIEEEISEES]

SIEEGEGINES]

(]) 99 Aedhigd

Maximum ability of catenation is exhibited by:
(a) Carbon

(b) Nitrogen

(c) Oxygen

(d) Sulphur

dfeae™ @ wgaw aivgar qug Sl
3

(@1) ®rdT B gRT

(@) T18gIoE @ gRT

(A) sraioe @ gIRT

(]) AW © §RT

The name fire damp is given to:
(a) Methane

(b) Ethane

(c) Propane

(d) Butane
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